
https://www.geekcert.com/1Z0-050.html
2021 Latest geekcert 1Z0-050 PDF and VCE dumps Download

 

 

 

1Z0-050Q&As

Oracle Database New Features for Administrators

Pass Oracle 1Z0-050 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1Z0-050.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-050 Dumps | 1Z0-050 PDF Dumps | 1Z0-050 Braindumps                                1 / 4

https://www.geekcert.com/1Z0-050.html
https://www.geekcert.com/1Z0-050.html
https://www.geekcert.com/1Z0-050.html


https://www.geekcert.com/1Z0-050.html
2021 Latest geekcert 1Z0-050 PDF and VCE dumps Download

QUESTION 1

In which two aspects does hot patching differ from conventional patching? (Choose two.) 

A. It consumes more memory compared with conventional patching. 

B. It can be installed and uninstalled via OPatch unlike conventional patching. 

C. It takes more time to install or uninstall compared with conventional patching. 

D. It does not require down time to apply or remove unlike conventional patching. 

E. It is not persistent across instance startup and shutdown unlike conventional patching. 

Correct Answer: AD 

 

QUESTION 2

While deploying a new application module, the software vendor ships the application software along with appropriate
SQL plan baselines for the new SQLs being introduced. Which two statements describe the consequences? (Choose
two.) 

A. The plan baselines can be evolved over time to produce better performance 

B. The newly generated plans are directly placed into the SQL plan baseline without being verified. 

C. The new SQL statements initially run with the plans that are known to produce good performance under standard test
configuration. 

D. The optimizer does not generate new plans for the SQL statements for which the SQL plan baseline has been
imported. 

Correct Answer: AC 

 

 

QUESTION 3

Which statement about the enabling of table compression in Oracle Database 11g is true? 

A. Compression can be enabled at the table, tablespace, or partition level for direct loads only. 

B. Compression can be enabled only at the table level for both direct loads and conventional DML. 

C. Compression can be enabled at the table, tablespace, or partition level for conventional DML only. 

D. Compression can be enabled at the table, tablespace, or partition level for both direct loads and conventional DML. 

Correct Answer: D 
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QUESTION 4

Your organization decided to upgrade the existing Oracle 10g database to Oracle 11 g database in a multiprocessor
environment. At the end of the upgrade, you observe that the DBA executes the following script: 

SQL>@utlrp.sql 

What is the significance of executing this script? 

A. It performs parallel recompilation of only the stored PL/SQL code. 

B. It performs sequential recompilation of only the stored PL/SQL code. 

C. It performs parallel recompilation of any stored PL/SQL as well as Java code. 

D. It performs sequential recompilation of any stored PL/SQL as well as Java code. 

Correct Answer: C 

 

QUESTION 5

You are managing Oracle Database 11 g with an ASM storage with high redundancy. The following command was
issued to drop the disks from the dga disk group after five hours: 

ALTER DISKGROUP dga OFFLINE DISKS IN FAILGROUP f2 DROP AFTER 5H; 

Which statement is true in this scenario? 

A. It starts the ASM fast mirror resync. 

B. It drops all disk paths from the dga disk group. 

C. All the disks in the dga disk group would be OFFLINE and the DISK_REPAIR_TIME disk attribute would be set to 5
hours. 

D. All the disks in the dga disk group in failure group f2 would be OFFLINE and the DISK_REPAIR_TIME disk attribute
would be set to 5 hours. 

Correct Answer: D 
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